www.t4meleads.com Get Leads from T4Me

T4Me LEADS

We are proud to introduce our newest service: Business Opportunity Seeker LEADS No more worrying about conversion rates, just buy the leads, import them, and start sending (and profiting!)

BIZOP · BUYERS · PARTIALS · DATA FEEDS · MORE

2018 PRICE SHEET

BUYERS LEADS - BIZOP

These leads have all purchased a \$47-\$97 product related to "Making Money From Home". Many also purchased one or more upsell products. We have 1,200-2000 Leads Available per week in this category. Price ranges from \$1.50 to \$2.50 per lead.

Get in Touch below to Get Started.

Overall Stats

32%

Average Open Rate

9-14%

Average Click Thru Rate

\$167

Average amount spent per buyer's lead

Packages Available

	COST OF LEADS		
# of Leads	Each	Total	
100 Leads	\$2.49	\$249	
200 Leads	\$1.99	\$397	
500 Leads	\$1.75	\$875	
1000 Leads	\$1.50	\$1499	

WHERE DO LEADS COME FROM?

We have partnered with one of the largest leads' providers in the industry to bring you the ability to scale your online business to new heights!

Now, you don't even have to worry about your landing page or opt-in rate. Simply buy the leads, import them, and start profiting.

Our focus has always been on providing the easiest way for our clients to succeed. Traffic & Leads are the fuel for any successful online business.

PARTIALS (OPTIN LEADS) - BIZOP

These leads have all opted in to a "Make Money From Home" landing page in the last 30 days. Some have purchased, many have not. This is a great bang for your buck and best way to grow your own list and even make some sales.

We get approximately 50,000 of these clean targeted leads per week. Price ranges from a \$0.05 to \$0.25 per lead.

Get in Touch below to Get Started.

Overall Stats

24%

6-11%

32%

Average Open Rate

Average Click Thru Rate

Average Opt-in Rate

Realtime 1	Daily Lea	ads	7-Day	s Old	30-Da	ays Old
# of Leads	COST OF L Each	EADS Total	COST OF Each	LEADS Total	COST OF Each	LEADS Total
1000 Leads	\$0.25	\$250	\$0.15	\$150	\$0.10	\$99
2500 Leads	\$0.20	\$500	\$0.125	\$312.50	\$0.09	\$225
5000 Leads	\$0.175	\$875	\$0.10	\$500	\$0.08	\$400
10000 Leads	\$0.15	\$1500	\$0.09	\$900	\$0.07	\$700
50000 Leads	\$0.125	\$6200	\$0.075	\$3750	\$0.05	\$2500

MASSIVE VOLUME (OPTIN LEADS) - BIZOP

These leads are for you if you're able to mail to very large volumes. We have 4 different QUALITY BizOp data feeds available with between 200,000 to 250,000 leads PER DAY. Each feed is available in realtime, 7 day old, and 30 day old flavors ranging from \$500/mo to \$3750/mo.

Get in Touch below to Get Started.

Overall Stats

17%

Average Open Rate

3-9%

Average Click Thru Rate

27%

Average Opt-in Rate

COST OF MONTHLY FEEDS

Feed Name - # of Leads	Fresh Daily	7 Days Old	30 Days Old
Feed #1 - 250k per day*	\$3750	\$1875	\$750
Feed #2 - 200k per day*	\$2500	\$1250	\$500
Feed #3 - 200k per day*	\$2500	\$1250	\$500
Feed #5 - 200k per day*	\$2500	\$1250	\$500
All 4 Feeds - 850k/day* *Leads Delivered M-F only	\$10000	\$5000	\$2000

BULK DATA FEEDS (OPTIN LEADS) - 21 NICHES

EXPERIENCED mailers only. We have 21 different Bulk Feeds available in the following categories: B-to-B, Domain Name Owners, CoReg Variety & Premium, Auto Warranties, Coupon, Credit, Debt, Education, Grant, Auto/Health/Life Insurance, Job Seeker, Mortgage, Payday, Solar, UK Real Time, Seniors, & Social Media. Each feed gets about 50,000 leads per day at a cost of \$600-1250 per month. Get in Touch below -Get Started.

Overall Stats

12%

2-7%

22%

Average Open Rate

Average Click Thru Rate

Average Opt-in Rate

COST OF MONTHLY FEEDS

# of Feeds - # of Leads	Per Feed	Total
Any 1 Feed- 50k+ per day*	\$1250	\$1250
Any 5 Feeds - 250k+ per day*	\$1000	\$5000
Any 10 Feeds - 500k+ per day*	\$750	\$7500
All 21 Feeds - Over 1M/day*	\$600	\$12500

*Leads Delivered M-F only